EE 475 Quiz #15
Name:





In time domain, we have transient response speed and overshoot.

In root-locus or s-domain, we have dominant pole magnitude and pole angle with –real axis.

In open loop freq response, we have wgc and phase margin.

In close loop freq response, we have bandwidth BW and resonance peak Mr.

a) When dominant pole magnitude increases,

a. In time domain, 



 will increase / decrease.

b. In open loop freq response, 


 will increase / decrease.

c. Closed loop freq response, 


 will increase / decrease.

b) When dominant pole angle increases,

a. In time domain, 



 will increase / decrease.

b. In open loop freq response, 


 will increase / decrease.

c. Closed loop freq response, 


 will increase / decrease.

When we adjust the overall controller gain up a little,
a. The transient response speed will increase / decrease.
b. The dominant pole magnitude will increase / decrease.
c. The wgc will increase / decrease.
d. The BW will increase / decrease.
e. The overshoot will typically increase / decrease.
f. The pole angle will typically increase / decrease.
g. The phase margin will typically increase / decrease.
h. The Mr will typically increase / decrease.
